Cup Stacking Explained

The question: How many Styrofoam cups would you have to stack to reach the top of your math teacher's head? 

Aidan summed it up pretty nicely when he said,

Well, we know how tall you are (160cm) and we know how much the height of the cups without the top part measures (7cm). So you take away the height of the cup from your height and then since the top of the cup is 1cm tall, whatever is left is how many cups you need.

(Actually, he said it in a better way but that's pretty close.)

So here is the math the way that Aidan said it:

160 – 7 = 153

If you do it the way that Arontase said, you would write it like this:

8 + 152 =160

He said that the top cup is 8cm so you have to subtract that from my height and then we add the rest to get our total. (remembering though, that this means we have 152 cup lips + 1 full cup, leaving us with a total of 153 cups)

This is another way of writing it:

lip height      X       # of cups       +        base    =   height of teacher

1cm  *  x   +   7   =   160

1x + 7 = 160

x = 160-7

x=153

1. How many parts of the cup are there? 

2. Which part of the cup matters most over the long run? Why?

3. If I asked you to tell me how tall a stack of sixty cups would be, what would you do? 

4. If I asked you to go backwards and tell me how many cups are in a 200-centimeter-tall stack, what would you do? 

5. Does it matter if you round to the nearest centimeter? Why?

What would happen if I used a different size cup, say .... a Tim Horton's extra large coffee cup?

Do you think you would need more or less than the number of styrofoam cups? Why?

Show me what you would need to do if I asked: 

How many extra large Tim Horton's coffee cups would you need to match my height?

(Show it to me in words and show the math. If you think you could go on to graph your findings, go ahead and do it.) 

